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OF=3a 28=5 7Y
3,000,000 3,000
02 S3=gHl 17,114 17,114 0
OE&3d 5532 S 9,500,000& 9,500
OE=3& ATANE B 2+
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OFs3& A=7A 22HS
6,114,000& 6,114
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B =1EY As)
&l XGAtel SXES (EEEE))
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
ONSANBIZZE N ASE M
1,000,000& 1,000
02 SE=29| 240 240 0
ONfol1= =2kt SEEEAIAH FEHTI|
=2 240,000& 240
03 HAr2 G| 15,000 15,000 0
Os|e=Xe3 15,000,000 15,000
203 YRF=&Y| 7,380 7,380
03 AR FRIHRFAIY| 7,380 7,380
OFeU=EX=Z g2FH
3,000, 0003 *90% 2,700
OAt2l=X S2FA 1,000, 000 *90% 900
OEEHHMA /2 g2FA
1,500,000 *90% 1,350
OMal=& FRF& 1,500,000 *90% 1,350
OYBAMEAMEIA AKX 24 S
700, 000 *90% 630
ORIAESAY 22 =X
500,000 *90% 450
AIBIER223 SAH| R,232 138,600 246,368
301 LPENZ R,232 138,600 246,368
10 Al =SRQIABAS R,232 138,600 A46,368
OMEIZXAIE - SEZ=XHEH - SXZH
AR =R SAH|
7,000&+61H*18L 123 ®,23
MNEELRNME XS (HEAIY) 980,9% 979,076 1,920
301 LPENZ 980,996 979,076 1,920
10 Al =SRLABAZS 980,9% 979,076 1,920
OA2=2H T X3 980,9%
2= 1,200,000 64+ 12& 921,600
mE=s]l 3,400 4B x 182 x 123 47,002
- Ol=dl 309,840 *40H 12,3%
MHol2=2J1= X 30,000 30,000 0
Altl 30,000
302 O M2 A2 30,000 30,000 0
Albl 30,000
2 IZICITHOH S SPE=sE 4= 30,000 30,000 0
OMai=3012 XA 30,000,000 30,000
Albl 30,000
24 SEES AR 22 108,960 100,000 8,960
AlHI 54,480
=t 54,480
201 B2 AY| 2,000 3,000 A1,000
Albl 1,000
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Albl 1,000
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AlH| 6,480
2l 6,480
02 AISIBEESHS(FHUHS, NYMWE) 12,960 3,000 9,960
OHRAANSBMYIA 2
12,960,000 12,960
AlHI 6,480
sl 6,480
307 S1Zto| ™ 94,000 94,000 0
AlbI 47,000
| 47,000
11 AMSIEXAIEEXR 94,000 4,000 0
ORLY SEEss MY 29
94,000,000& 94,000
AlHI 47,000
] 47,000
SXARIIN 2= & ol 5,000 5,000 0
201 Let2IH| 5,000 5,000
01 AtR2teldl 5,000 5,000
OsXAZIIN 2= g8 ¥ 29
5,000,000& 5,000
DSAF GIEHMA = ALY 30,000 40,000 10,000
= 15,000
AlHI 9,000
2| 6,000
201 Let2HH| 724 408 316
= 362
AlHI 217
4l 145
01 AtR22teldl 724 408 316
OotReEolE 23 M 724,000 724
= 362
AlHI 217
=4l 145
301 EtBXZ 10,816 17,292 NB,476
= 5,408
AlHI 3,245
=4l 2,163
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01 A2 HSHS(RRNEERTH) 10,816 17,292 N6,476
OL=AF GIHAH 2= 10,816,000 10,816
= 5,408
Altl 3,245
Tl 2,163
307 glztol & 18,460 22,300 A3,840
= 9,230
Albl 5,538
Tl 3,692
11 AMEISXAEEES 18,460 22,300 A3,840
ONIBXS ANIESE 29
4,460,000 4,460
= 2,230
Altl 1,338
Tl 892
OAMEIE DEDIT Atsl2 2 84 X
14,000,000 14,000
= 7,000
Alt] 4,200
=1 2,800
EE%J;;*ODPE BASKIAHIA ARHI(S At 2elAl 158,080 158,080 0
2 X
= 110,656
Al 23,712
Tl 23,712
201 Eer23 | 79,040 79,040 0
s 55,328
AlHI 11,85
Tl 11,8%
01 At22t2l] 79,040 79,040 0
O= SehAtdl2emg 29
79,040,000 79,040
s 55,328
AlHI 11,85
Tl 11,8%
301 LELE NS 79,040 79,040 0
[ 55,328
AlHI 11,85
-l 11,8%
01 ARRIE2HHSHS(SNERTHE) 79,040 79,040 0
O SEAtI2elArE tHa A X
79,040,000 79,040
= 55,328
AltI 11,85
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| | 11,85
MAs HRES=X Uy X 26,500 10,000 16,500
307 21201 & 26,500 10,000 16,500
02 LB AANHEE 26,500 10,000 16,500
OMas HRES=EX AL XA
26,500,000 26,500
KA UsFE 4,562,841 4,838,861 A276,020
= 3,472,000
[ 10,700
AltI 599,639
-l 480,502
T SEAtddl2el A& 15,000 15,000 0
[ 7,500
AlHI 3,750
Tl 3,750
201 er=23| 7,500 7,500 0
= 3,750
Alt] 1,875
Tl 1,875
01 At2t2ltl 6,708 7,500 ATR
OAtell2tielAg 29 6,708,000 6,708
= 3,3%4
Altl 1,677
Tl 1,677
02 S5=2g4l 792 0 792
OxUdsl 2= 33,0002 <2CH = 1204 = 792
= 3%
AlH] 198
Tl 198
301 EtE NS 7,500 7,500 0
= 3,750
Albl 1,875
- 1,875
01 AR 2EHSHS(RDNEXRTH) 7,500 7,500 0
OAtIZelAtY HERH XI2
7,500,000 7,500
= 3,750
Altl 1,875
el 1,875
SEAAIZIAL Q14| X2 6,980 0 6,980
s 3,200
AlHI 1,600
Tl 2,180
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101 @124H| 6,980 0 6,980
= 3,200
Albl 1,600
Tl 2,180
M ORNZZ2NSE S 6,980 0 6,980
OJ123 A2leleg, EXNRZ 5
3,200,000« 1E~1&+2Z 6,400
= 3,200
Altl 1,600
Tl 1,600
OE &=l 300,000 *1 300
OdHZAHI 140,000 x 1 x12+23 280
22 SN 4,340,000 4,623,000 /283,000
= 3,472,000
AlHI 434,000
Tl 434,000
301 EtE N = 4,340,000 4,623,000 /283,000
= 3,472,000
Al 434,000
Tl 434,000
01 AR 2EHSFS(RNEERTH) 4,340,000 4,623,000 /283,000
O2g=A K& 4,340,000,000& 4,340,000
= 3,472,000
Albl 434,000
Tl 434,000
=23 29 40,000 40,000 0
AlHI 20,000
Tl 20,000
307 elztol & 40,000 40,000 0
AltI 20,000
-l 20,000
1 AMEISXAIEEXS 40,000 40,000 0
OJI=REd3 =29 N&
40,000,000 40,000
AlHI 20,000
Tl 20,000
JI=Z2E0 249 68,572 68,572 0
AlH] 48,000
Tl 20,572
307 elzto| & 68,572 68,572 0
AlHI 48,000
Tl 20,572
11 AMEISXAIEEXS 68,572 68,572 0
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OJIZZS0R! 2% X2
68,572,000& 68,572
AlHI 48,000
Tl 20,572
2ot 285X 92,289 92,289 0
AltI 92,289
301 EtE N = 92,289 92,289 0
AlHI 92,289
02 ARSI 2E AT S(FIANS, XLETHE) 92,289 92,289 0
ORud 2Ee=kIXE 92,289,000 92,289
Alt] 92,289
Ols=X &at 24,756,846 25,301,980 AB45,134
= 12,346,650
[ 1,636,571
Jl 113,400
Al 7,682,935
Tl 2,977,290
otsEs 24,756,846 25,301,980 ABA5,134
= 12,346,650
[ 1,636,571
Jl 113,400
Al 7,682,935
Tl 2,977,290
Ots= X WAL IHA K& 268,551 266,556 1,995
s 130,315
AlHI 65,158
Tl 73,078
101 ©1AH| 268,551 266,556 1,995
[ 130,315
AltI 65,158
Tl 73,078
04 JIZtNZ22 XS 2+ 268,551 266,556 1,995
OOtSEXI WAL Q1A4H] S
260,631,000 260,631
[ 130,315
AltI 65,158
-l 65,158
OOtsSEXWAHE L) MIHEHl S 7,920
HE S| 300,000& *13H 3,900
SEE SAEIE 300,000& *13H 3,900
A28 30,0002 ~4& 120
AS0tSHE 29H| XA 309,720 300,69 9,024
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AlH] 77,430
- 77,430
307 212t01™ 309,720 300,696 9,024
= 154,860
Albl 77,430
Tl 77,430
10 Al SXAEEHE 22X 309,720 300,69% 9,024
OXZotsHE! 24l K&
279,120,000& 279,120
= 139,560
Altl 69,780
2| 69,780
OXIHOISHIEl %0 228 XA (CHIE2
o gol) 30,600,000& 30,600
= 15,300
Altl 7,650
Tl 7,650
KS0tsHE 2lAdl K& 1,777,800 1,264,824 512,976
= 888,900
Albl 444,450
- 444,450
307 212t01& 1,777,800 1,264,824 512,976
= 888,900
AltI 444,450
-l 444,450
10 MEISXAEHE2EHIEX 1,777,800 1,264,824 512,976
OXIHOLSHE 21218] X2
1,777,800,000& 1,777,800
= 888,900
AltI 444,450
-l 444,450
E+28E NA0tsHEH FIHKIE 64,800 61,016 3,784
= 32,400
AlHI 16,200
-l 16,200
307 @120l & 64,800 61,016 3,784
[ 32,400
AlHI 16,200
-l 16,200
10 Al SXAAEEHE 22X 64,800 61,016 3,784
OS4+2x8 Xo0lSHH X
64,800,000 64,800
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| 24| 16,200
EQR2E NY0tSHE FIt K& 18,000 15,000 3,000
[ 9,000
AltI 4,500
-l 4,500
307 gl2to| & 18,000 15,000 3,000
[ 9,000
AlHI 4,500
-t 4,500
10 Al SXAAEEHE 22X 18,000 15,000 3,000
ONAOISHE EQSH It X
18,000,000 18,000
[ 9,000
AlH] 4,500
- 4,500
ORt &8 XS0tsSHE X 15,600 15,600 0
AlHI 7,800
-l 7,800
307 @120l & 15,600 15,600 0
AlHI 7,800
el 7,800
10 Al SXAIEEHE 22X 15,600 15,600 0
OORIEGZ XIS OtSHE XIS
15,600,000 15,600
AlH] 7,800
- 7,800
KNSOISHE SAEG M2HE K& 493,304 380,848 112,456
AltI 233,402
-l 259,902
307 @20l & 493,304 380,848 112,456
AlHI 233,402
el 259,902
10 Al SXAIEEHE 22X 461,504 357,448 104,056
OXY0tsHEH SAHL HSHL KA
399,760,000 399,760
Albl 199,880
- 199,880
OXY0lSHE SAL SXZEIE X
5,300,000& 5,300
AltI 5,300
OXISOtSHE! SAHL ARl =& XI&
56,444,000& 56,444
AltI 28,222
-l 28,222
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OXIG0tsHE SAR XY
31,800,000 31,800
NS otsdE T2 8| XI& 40,680 40,800 N 120
AlHI 20,340
-l 20,340
307 QIZt0I A 40,680 40,800 A120
Albl 20,340
2| 20,340
10 Al SXAEEHE2HHIE 40,680 40,800 A120
ONHOISHE T2y T2
40,680,000& 40,680
AlH| 20,340
2l 20,340
XG0t Mg HEHHH| K& 5,834 5,865 A3
AlHI 2,917
sl 2,917
307 QIZt0IA 5,834 5,865 A31
Albl 2,917
2| 2,917
10 AISISXIAEEE2IHIE X 5,834 5,865 A3
OXNE0tsHE Hiteidl XI&
5,834,000& 5,834
Altl 2,917
| 2,917
CetH=s84dE 22Hl A& 108,000 108,000 0
Fay 36,000
Albl 18,000
| 54,000
307 2I2t01 ™ 108,000 108,000 0
iy 36,000
AlbI 18,000
| 54,000
05 a2t Eer2 108,000 108,000 0
otrstNessde 29| XN(BxX)
72,000,000& 72,000
s 36,000
Albl 18,000
2| 18,000
otsNssde 2] XIS (XA
36,000,000 36,000
CIHetH=84E o14H] XI& 439,632 414,216 25,416
Fay 219,816
Altl 109,908
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-l 109,908
307 gl2tol & 439,632 414,216 25,416
[ 219,816
AlHI 109,908
Tl 109,908
10 Al SXAAEEHE2EHI2x 439,632 414,216 25,416
OUgNssaE bl K&
439,632,000 439,632
[ 219,816
AlHI 109,908
Tl 109,908
CIE N ESHE SAL ML K& 91,124 21,460 69,664
AltI 42,562
-l 48,562
307 @120l & 91,124 21,460 69,664
Altl 42,562
Tl 48,562
10 Al2IS XA EEE 22X 83,924 14,260 69,664
OUSNESSHE SAHA MMl K&
68,000,000 68,000
AlH] 34,000
Tl 34,000
OUENSSHEH SAHAL AlZIIZ2S XI&
14,724,000 14,724
AlHI 7,362
-l 7,362
OUESNESHE SAHA SXIZE X&
1,200,000 1,200
AlH] 1,200
11 AMRISXAEEES 7,200 7,200 0
Ot HNESHE SAHL SX+=g XI&
7,200,000 7,200
012/0l=0IE & OtsSAIE 2¢l 2,000 2,000
401 AlZHIZ SO 2,000 2,000
01 Al&H| 2,000 2,000
OO0lel0l=01H & OtsAlZ 2cl
2,000,000& 2,000
OlS& et Al &4 41,300 41,300 0
201 fer=3| 20,200 38,000 A17,800
01 AtR2tc|Hl 16,200 33,000 A17,800
Ootsael Ol s & ZSTAl 82 S
5,200,000 5,200
OosEWII+ 5 242 10,000,000 10,000
2 s5=34l 5,000 5,000 0
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OO0tsalat=Al =8 NYIFES HlH|
5,000,000& 5,000
203 =] 900 900
03 A=A PR FA| 900 900
OOtsaetEAl o2 Fa|2 S P2
= 1,000,000 *90% 900
207 AR 17,800 17,800
01 HESHI 17,800 17,800
OO0tSEst=Al =dde =8 89
17,800,000 17,800
301 EtE N = 2,400 2,400
11 #AIMHIXIZE = 2,400 2,400
OOISH0IIIT HOIX S At
2,400,000 2,400
FHAAE OlsSEAEIA X2 187,247 187,247 0
[ 149,280
AltI 11,196
-l 26,771
201 ger=2 3| 116,607 114,607 2,000
[ 93,286
AlHI 6,99%
Tl 16,325
01 At2teltl 113,607 111,607 2,000
OCEEAERE 2208 2 29
113,607 ,0002 113,607
[ 90,886
AlH] 6,816
T4l 15,905
02 S3=gl 3,000 3,000 0
O3&R= 3,000,000 3,000
[ 2,400
AlH] 180
Tl 420
202 0o4dl 8,640 8,640 0
[ 6,394
Alt] 480
Tl 1,766
01 =LHA LI 8,640 8,640 0
OEEAERE SE0 8,640,000& 8,640
= 6,394
Al 480
Tl 1,766
203 HR=H| 2,000 2,000 0
= 1,600
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Alt] 120
Tl 280
03 A=A R =NH] 2,000 2,000 0
CEHARE gR=d 2,000,000& 2,000
= 1,600
Altl 120
Tl 280
301 EtE NS 4,000 6,000 22,000
= 3,200
Albl 240
Tl 560
14 JIEt2d = 4,000 6,000 22,000
OXESALAF &l S 4,000,000 4,000
= 3,200
AlHI 240
-l 560
307 212+01& 56,000 56,000 0
= 44,800
AltI 3,360
| 7,840
1 ABIS XA EE 56,000 56,000 0
O%8)|BT2 Y 2% X
56,000,000 56,000
= 44,800
AltI 3,360
-l 7,840
Y - Hets OlssSAXE 2,204,930 2,155,932 48,998
Al 1,322,958
Tl 881,972
308 XtXIEMSO0IE 2,204,930 2,155,932 48,998
AlH] 1,322,958
T4l 881,972
18 SIS0t YA ASAIY 2,204,930 2,155,932 48,998
OBY - yots 0iS3AN
2,204,930,000& 2,204,930
AlHI 1,322,958
-l 881,972
£ - 352 OlssS4X# 458,210 465,597 NT,387
Al 458,210
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OF - B&Y ots3ANY
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-l 772,790
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AlHI 1,803,170
Tl 772,790
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Olts=¢ A& 12,879,819,000& 12,879,819
= 10,303,859
Alt] 1,803,170
Tl 772,790
OtSSFAIL(0HOHR) & R 230,000 230,000 0
= 207,000
Al 23,000
301 EtE2 NS 230,000 230,000 0
= 207,000
AlHI 23,000
01 Al EE AL S(FREXMH) 230,000 230,000 0
OOtS 2= AL (0HOFY) A4HH] X
230,000,000 230,000
= 207,000
AltI 23,000
Ots=AIL(0H0IY) 22 X 1,753,126 1,753,126 0
AlHI 1,753,126
307 212+01& 1,753,126 1,753,126 0
Al 1,753,126
10 AlISXAAEEHE 22X 1,753,126 1,753,126 0
OOts 2= AL (0HOHY) 23H] X
1,753,126,000& 1,753,126
Altl 1,753,126
OrSSFAIZ(0H0HY) HASH XA 34,817 34,817 0
AltI 34,817
301 EtE NS 34,817 34,817 0
AlHI 34,817
02 ANRI2HHSHS(HAAS, NLHE) 34,817 34,817 0
OOLS2FAIL(0H0H) AT AIAHl X
el 34,817,000& 34,817
Al 34,817
OrSSFAIZ(0H0HY) etd2te] & &Zohe XI& 2,000 2,000 0
Altl 2,000




A SXNEH
ma: ols=x EHAl
o9l Os=Ee (e & )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 2,000 2,000 0
AlHI 2,000
10 Al SXAEEE 22X 2,000 2,000 0
OOLS2FAIL(0H0H) erM2te| & &3
&Hl X2 2,000,000 2,000
Alt] 2,000
RESOtS SSHEIMNF(S=H) 22 145,428 97,793 47,635
= 58,171
AltI 87,257
307 212+01& 145,428 97,793 47,635
= 58,171
AltI 87,257
10 Al SXAIEEHE2EHI2x 145,428 97,793 47,635
O3 SHEIIE 2gHI(2AH]) XI&
145,428,000 145,428
= 58,171
Alt] 87,257
LQESOts SsHEIIA(otsM)22 (Aldl) 63,769 63,769 0
Altl 63,769
307 elztol & 63,769 63,769 0
AltI 63,769
10 Al2ISTIAIEEE 22X 47,321 47,321 0
OSSHEINE SAL SX=E A&
15,620,000 16,620
AlHI 15,620
OSSUEIIE SAL SXRE K&
500,000 500
AlH] 500
OZSMEINE AL ALI2RE
1,912,000& 1,912
Alt] 1,912
OSIUIIolOtS MY SSEENE 2SN (
A2IXIZ A 28,389,000 28,389
Al 28,389
OstiilllolSsM&IIE et 2teld] K&
900,000& 900
Altl 900
1 AMEISXAIEEXS 16,448 16,448 0
OssdaEiHd 2s0ts N3
16,448,000 16,448
Albl 16,448
SH{TIoHOls HE(Y2Y) 22 237,182 237,182 0
= 94,872
AlHI 142,310
307 21201 & 237,182 237,182 0




2A: SXFH
M Ols=A e
el olEEs (cie) 29
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 94,872
AltI 142,310
10 Al SXAEEHE2EHI2x 237,182 237,182 0
Ostiulohots & =24
237,182,000 237,182
= 94,872
Alt] 142,310
SHHTIGHOlSEH(Z=Y) 2SR (AlH]) 27,331 27,331 0
Altl 27,331
307 212t01™ 27,331 27,331 0
AltI 27,331
10 Al SXAEEHE 22X 20,751 20,751 0
OstHLIcHOtSEE SALL SX+=¢ X2
17,760,000 17,760
AlHI 17,760
OstiUIoHOtS & SALA SXZEE X
600,000 600
AlH] 600
OstUUIcHOtSEH SAMAF AlZ2t2l=E X
2,391,000& 2,391
Alt] 2,391
11 ARRIS XA E X 6,580 6,580 0
OstiLloiOtsaEH Ots AXFH AL
A& 6,580,000 6,580
Al 6,580
IS E Ot s A 190,800 190,800 0
Altl 133,560
el 57,240
301 22N 190,800 190,800 0
Alt] 133,560
- 57,240
02 MBI 2HHSFHS(HAANS, XLHE) 190,800 190,800 0
OIFHLE0IE BR4Y X2
190,800,000& 190,800
AlHI 133,560
-l 57,240
HERE dFSS7YL N2 5,000 5,000 0
AlHI 3,500
Tl 1,500
301 22N = 5,000 5,000 0
Al 3,500
- 1,500
02 MBI 2EHSFHS(HAANS, XLHE) 5,000 5,000 0
OJtgs d==35728H N
5,000,000& 5,000




2A: SXFH
ma: ols=x EHAl
thel: OlSES (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 3,500
Tl 1,500
2SS Hets=Es S N2 21,000 21,000 0
AltI 21,000
301 2eEN= 21,000 21,000 0
Alt] 21,000
02 A EEHS(FIANE, XLTHE) 21,000 21,000 0
25l 0ls Hets=Es s A&
21,000,000& 21,000
Albl 21,000
FOISHEES MY d20SEsH| X 12,000 12,000 0
= 8,400
AlHI 3,600
301 LEtE NS 12,000 12,000 0
= 8,400
AltI 3,600
01 AR 2EHSHS(RNEXRTH) 12,000 12,000 0
Od20tsEsHl X 12,000,000 12,000
= 8,400
AlHI 3,600
FOIISIHEES MY OtSES 72l X2 1,000 1,000 0
= 700
Alt] 300
301 EetE2 NS 1,000 1,000 0
= 700
AlHI 300
01 Al EE A S(FRNEXM) 1,000 1,000 0
OotsE37YH & 1,000,000& 1,000
= 700
AlH] 300
HEIHERE d20tsEsHl K& 24,000 24,000 0
= 16,800
Altl 7,200
301 LEtE N = 24,000 24,000 0
= 16,800
Albl 7,200
01 Al EE A S (FRNEXA) 24,000 24,000 0
O&EIIEAE d20ts23H] XE
24,000,000& 24,000
= 16,800
AlH] 7,200
2 - JIE RS Ot delxI=Hl X2 11,410 11,410 0
= 7,987




2A: SXFH
Hm: OS2 BHAl
thel: OlEsEs
RA - I BRA(E) - HRA - BES of vy A
AlH] 3,423
301 22N = 11,410 11,410
= 7,987
AlHI 3,423
01 Al EE A GIZS (2 DEXTHE) 11,410 11,410
Oge - JIERIE Ot delxizdl X
11,410,000 11,410
= 7,987
AltI 3,423
YOS IHE XA 162,000 162,000
Il 113,400
Alt] 48,600
301 LetEN= 162,000 162,000
Il 113,400
AlHI 48,600
01 Al EE A =6IZS (2 DEXTHR) 162,000 162,000
OYA0IE YS4Y X2
151,200,000& 151,200
Il 105,840
AltI 45,360
oY=t 2XXES K&
1,400,000 1,400
Il 980
Albl 420
oggtlE X 5,400,000& 5,400
Il 3,780
AltI 1,620
Ogg=sl=s N 4,000,000& 4,000
Il 2,800
Albl 1,200
gAtaiots 2=Hl A 6,000 6,000
= 4,200
AlHI 1,800
301 22N = 6,000 6,000
= 4,200
AltI 1,800
01 Al EBEATZ(ZDEZME) 6.000 6,000
Aot 251l K&
6.,000,000& 6,000
= 4,200
Altl 1,800
AEEHEE ANE=E N2 516,000 516,000
= 412,800
AlH] 103,200




A SXNEH
33 Ors=A gd
o742 Ol sEs (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 516,000 516,000 0
= 412,800
Albl 103,200
01 Al EE A2 (2RNEXMR) 516,000 516,000 0
OXNE=HIEE e X3
516,000,000 516,000
= 412,800
AlHI 103,200
NEEHEE M= X (7)) 50,000 0 50,000
301 2eEN= 50,000 50,000
02 A2 EH LGS (FHAAS, W) 50,000 50,000
OXgEHEE Tedsg X2 (KA
50,000,000 50,000
AeEHIEE ANEdEs N 60,000 60,000 0
AltI 55,000
Tl 5,000
301 EetE2 N = 60,000 60,000 0
AltI 55,000
-l 5,000
02 ANRI2HHSFS(HAAS, NLHE) 60,000 60,000 0
OAIZEI20tS NS N3
50,000,000 50,000
Alt] 50,000
OJIg <& 0ts NEEEs K&
10,000,000 10,000
Al 5,000
Tl 5,000
orsgg XEAZCIGNXSE) N 1,751,902 1,751,902 0
= 1,226,331
Alt] 525,571
301 EtE N = 1,751,902 1,751,902 0
= 1,226,331
AlH] 525,571
01 Al EE AL S(FRDEXMA) 1,751,902 1,751,902 0
Ootsge XN2AZ(CISHASE) XA
1,751,902,000& 1,751,902
= 1,226,331
AltI 525,571
Al Xsots NEAA 7,900 7,900 0
= 5,530
Altl 2,370
301 EtE N = 7,900 7,900 0
= 5,530
Alt] 2,370




A SIS
33 Ors=A gd
o742 Ol sEs (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RRNEERTH) 7,900 7,900 0
O3AEXNSOS NHERE
7,900,000& 7,900
= 5,530
Al 2,370
OLSSIU AL B33 ALY 8,430 8,430 0
201 et 3| 6,980 4,980 2,000
01 AlR22IH| 5,000 3,000 2,000
OolEStTiolY NS U B2
3,000,000 3,000
OOt=stth s ¢ mdiors = KE s
2,000,000& 2,000
02 S3=gHl 1,980 1,980 0
OFUds 2= 33,000 +50H+ 122 1,980
203 =4l 450 450
03 A=A 2= 450 450
Ootssith HSHA g2
500,000 *90% 450
307 lztol & 1,000 3,000 22,000
019z & 3=l 1,000 3,000 /2,000
OWHMOIE XIZHI L 2N S
1,000,000& 1,000
OlSE28523 At 20,000 20,000 0
[ 16,000
AlHI 2,000
Tl 2,000
201 er2 3| 7,000 9,000 /2,000
= 5,600
Alt] 700
Tl 700
01 At2tltl 5,416 7,500 A2,084
OJl=2=2gl 5,416,000& 5,416
= 4,334
Altl 541
Tl 541
02 S5=2g4l 1,584 1,500 84
O=s23Hl 1,584,000& 1,684
= 1,266
Al 159
Tl 159
203 HR=H] 1,000 0 1,000
= 800
Altl 100
Tl 100




A SIS
33 Ors=A gd
&9l Ols2s LR
SA - ZE . BR() - HRAR - BES of v G o HIDE2
03 A=A RN 1,000 0 1,000
OAIHH 2= 1,000,000& 1,000
= 800
Altl 100
Tl 100
301 EtE NS 12,000 11,000 1,000
= 9,600
Albl 1,200
Tl 1,200
01 AR 2EHSHS(RNEXRTHE) 12,000 11,000 1,000
OANHIA2SE | 12,000,000 12,000
= 9,600
AltI 1,200
-l 1,200
Ols=XAE 24 2,200 2,200 0
201 er=3 | 2,200 2,200
01 At2t2ltl 2,200 2,200
O0ts=RIMNg 249 2,200,000 2,200
OlS=AIAIE A X1 7,000 7,000
307 212t01™ 7,000 7,000
11 MEISXAEE 7,000 7,000
OXIZOtSHIE] SALKIA
5,000,000& 5,000
OUSNESSHEH ALK
2,000,000 2,000
FHAHS=HRE 21,110 16,710 4,400
= 5,600
AlH] 2,240
Tl 13,270
FHAHSF=HIIZ 21,110 16,710 4,400
= 5,600
Alt] 2,240
Tl 13,270
STFUUOHIE X 9,910 9,910 0
307 elztol & 9,910 9,910
11 AMEISXAEEE 9,910 9,910
OZTAUMOMIE L Eots HIIE
9,910,000& 9,910
HIZ&SAX H==At OlAMHl KIZAHE 11,200 6,800 4,400
= 5,600
AlH] 2,240
Tl 3,360
301 EtE NS 11,200 6.800 4,400




M SXE MY

BI: FHUHSFHXE

S S EES (crol: m2)
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY

= 5,600
Al 2,240
2| 3,360

01 AFBIBE X462 (Z2DEXZME) 11,200 6,800 4,400

OHIZAHM HE=XF OIAHHIXKIR AL

11,200,000& 11,200
= 5,600
Ald] 2,240
2| 3,360

HESAAH|(SXHZD} 801,517 772,729 28,788
rag 320,309
AlH] 73,703
2| 407,505

ol HY| 725,183 697,604 27,579
g 320,309
Ald] 73,703
2| 331,171

SetAtdl 22l AF 21| K& 237,39 225,497 11,902
g 86,230
AlHI 43,115
2| 108,054

101 2124d| 228,999 217,097 11,902
g 82,630
AlHI 41,315
sl 105,054

03 222 (2IH) 22 A2 % 228,999 217,097 11,902
OSE At Z2IAL CI24H] S 228,999

|22, Aztelsd, ERNU3 S
37,217,200 x5H 186,086
= 82,630
AlHI 41,315
2| 62,141
Sc|F= M| 42,913
-IELEY 500,000 128 6,000
~HHZA| 140,000& 5 x 122 8,400
-"HESIH| 2,102,480 & xbH 10,513
ARSI

2,200,000 +5H 11,000
A= 1,400,000& *5H 7,000

202 04b| 8,400 8,400 0
hag 3,600
Al 1,800
2| 3,000

01 2L | 8,400 8,400 0




A SXNEH
Ho: HESAAY| (=X )
chol: ol (19 @)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
OE&0it| 280,000& x5 H+6E 8,400
= 3,600
Albl 1,800
- 3,000
OtsSEAtAIZtel AL 124H] X 178,592 172,504 6,088
= 106,483
Albl 7,986
- 64,123
101 e124d| 178,592 172,504 6,088
= 106,483
AltI 7,986
-l 64,123
03 SRA(RIH) 222 178,592 172,504 6,088
OOtSSE At 2tel At 21248 178,592
123, Alielag, ERNEZ S
36,888,000 x4 147,552
s 106,483
Altl 7,986
el 33,083
Scl=4d] 31,040
-tEag 60,0002 x4~ 12 2,880
-S4 140,000 x4 & x123] 6,720
“HEFOH| 2,040,000 x4 8,160
PN =) S
1,940,000 x4H 7,760
=G, 1,380,000 x4H 5,520
OSSR WAHXISFALSI S XIAL) QI24H] XI& 46,940 44,927 2,013
[ 17,740
AlH] 8,870
-l 20,330
101 @124H| 44,760 43,247 1,513
= 17,740
Alt] 8,870
- 18,150
03 SR (RINHA) 222+ 44,760 43,247 1,513
OOIS=SXIWAHKIFALZI S RIAL) el24] 44,760
22, EA8Es S
36,880,000& 36,880
[ 17,740
AlH] 8,870
- 10,270
Scl=4bl 7,880
&g 70,0003 * 122 840




2A: SXEA
. HY2IZU(SXEF
chol: ol (19 @)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
-3 4&lt| 140,000& x 123 1,680
-BEZFIHI 2,040,000& 2,040
REPNE == Sy 1,940,000& 1,940
- utaol 2 1,380,000& 1,380
202 0idl 2,180 1,680 500
01 =WHO4LI 2,180 1,680 500
OE&F0HI 2,180,000& 2,180
OlsSESNMYRA 21AH| X 165,187 157,611 7,576
= 109,856
AlbI 13,732
-4l 41,599
101 21| 158,467 150,891 7,576
= 109,856
Albl 13,732
=4l 34,879
02 JIEt& 24 104,804 97,840 6,964
OS2 H™E AIZHEEHIAI M (924 ) 104,804
1=, AlISY, BEE S
91,177,000& 91,177
= 72,941
AlHI 9,118
-4l 9,118
s 60,0002 x3*12& 2,160
- HMUFAH| 140,000 x3% * 123 5,040
CHoletSH| 50,0003 «3F =123 1,800
2 &tH| 6,2002 x3H +77 Al 2t 1,433
SRR 88,7203 +3Y 123 3,194
03 SRH(RINHS) 22X 22 53,663 53,051 612
OUSESHE (RIIHLH) 53,663
JlEg, MY, E8s S
46,143,000& 46,143
= 36,915
Altl 4,614
sl 4,614
Scl=HH| 7,520
-EEZIH| 2,040,000& 2,040
-SHHZ A 140,000 x1H = 12042 1,680
- A2 1,380,000& 1,380
-JE=4 480,000& 480
-Altr=sstE 1,940,000& 1,940
202 04dl 6,720 6,720
01 =WHO4LI 6,720 6,720
O=LHo Y| 280,0003 4L +6H 6,720




A =SXEA
M HYRAZH(SXFHL)
chol: ol (19 @)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Olssitidg o= el2idl K& 97,065 97,065
101 @124H| 93,705 93,705
02 JIEtME = 93,705 93,705
OOtssttA Y AlZHIE TN (92 a1 E)2
g el 93,705
JlEs, 288, Add+" &
43,089,000 2 86,178
- HASAH| 140,000& x2&~ 123 3,360
- SARsd 86,1002 x2& ~ 122 2,067
- SZYEFsgeEsy
43,7502 x2&* 122 1,050
el sHI 43,7502 x2S * 122 1,050
202 04| 3,360 3,360
01 =LHO LI 3,360 3,360
O=LH04HI 280,000 x2H+6E 3,360
=3l 76,334 75,125 1,209
Jl=23H] 76,334 75,125 1,209
201 Ler=23| 22,274 21,065 1,209
01 At2teltl 20,274 19,065 1,209
ORNEg=+3HI 8,748,000& 8,748
OJ|2g =8 =4I 10,886,000& 10,886
OR£4 29| 640,000 640
2 35244l 2,000 2,000 0
fE= 2,000,000& 2,000
202 04l 47,040 47,040
01 =LHAHI 47,040 47,040
OJlzges+4d 0|
280,000 «28H «6E 47,040
203 =4l 7,020 7,020
01 1228 RFa| 2,700 2,700
Ol 22gd =]
3,000,000 *90% 2,700
M EA2ER=A 4,320 4,320 0
ORNEgE =AY
4,800,000& *90% 4,320




